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BOOOMRHIE  BHZI0EANIE  MEE71HZOH (300 HA0R (e - #i2)
n_r-;j@-% s | g | 82
A 5,707,000 4,212,478 1,494,522
700 AtHIE 5,707,000 4,212,478 1,494,522
710 EYHIE 5,707,000 4,212,478 1,494,522
714 EAHH| 1,067,545 889,000 178,545
300 ZAold 1,067,545 889,000 178,545
307 Q7o 655,000 639,000 16,000
05 QIZIREZ 655,000 639,000 16,000
OBTLAIY 2&H] 553,000,000%! x 14l = 553,000
OLZHAEA| 52t Zt2|cha 8,500,000¢ x 12¢ = 102,000
308 ZRx|HAISO|A 412,545 250,000 162,545
05 ZRR|THA)ZHEE=Z 412,545 250,000 162,545
OEZHLEA| sl2{2|Ald Re2lohdl 222 412,545,0009 x 14 = 412,545
716 Z{2|&H| 4,102,771 2,899,278 1,203,493
200 =7H| 697,060 627,740 69,320
201 UBkRAH| 69,460 42,140 27,320
01 ARR22|H| 6,500 6,500 0
OTMS LAt o8 6,500,000 x 1Al = 6,500
02 3329H| 62,960 35,640 27,320
Ostr{2|d E4es 330,000 x 97H4A x 128 = 35,640
=4 Skexe|d Shea 500,000 x 1714 x 12¢ = 6,000
OO BABRAAEIAA ASERS 1100008 x T x 128 = 1,320
O0f|d slps2Ax2|AlE SHiERE 20,000,000%! x 14l = 20,000
215 S| 627,600 585,600 42,000
=522 2L AA| 627,600 627,600 585,600 42,000
O BBsHEARIA 27I23 27,500,008 x 122 = 330,000
O sHezRIAHRA 2123 5000,0008 x 128 = 60,000
B3| BBseARA 2] 170000080 x 128 = 20,400
S5 3FsteHE AL HrIes 4,500,000 x 12¥ = 54,000
L 3Fste AL HYIes 3,200,000¥ x 12¢ = 38,400
0|32 SAYEY M7|e3 350,000¥ x 37fa x 12¢ = 12,600
O} BBSHEARIA 2] 1500,0008 X128 = 18,000
MU SIS AE HYIea 2,000,000 x 12¥ = 24,000
ZHEA SAELY MV (2= 150,000 x 7704 x 12¥ = 12,600
-SHAEA| SAHOIZ M= 1,800,000 x 12¢ = 21,600
AS 3FSeHE AL HYIes 1,000,000 x 12¢ = 12,000
AE St AE Ho|es 1,000,000 x 12¢ = 12,000
=24 335 HYIea 1,000,000 x 12¥ = 12,000
300 Aol 3,405,711 2,271,538 1,134,173
307 QIzto|d 3,405,711 2,271,538 1,134,173
05 QIZIEZ 3,405,711 2,271,538 1,134,173




(700)AIREIE  BH(710)FRHIE  MEE(716)221dH]  =:(307)212H0|/ (St : 2%
TS AEE A | Gha | 34
O0f|A slrERiR| 2| 22(Cil(E2) 1,093,000,000¢ x 14/ = 1,093,000
O0fA 3kp22d 2 chl(EQ), 0|2 2EhH(ER)
1,048,858,000% x 1Al = 1,048,858
OS% OISoeA2|ZHEUAM HE) H2|chl(ER)
283,186,000 x 14| = 283,186
OTH 23012 Ske2{2|d He|til(E=R) 35,684,000 x 14l = 35,684
SAl OlSstxa| He|Ei(ER) 122,765,0009 x 14 = 122,765
OX2| OFSstea2|d 22ltis(ER) 59,202,0008 x 14| = 59,202
OLet OFSstea2ld 2altid(Ex) 110,731,000 x 14 = 110,731
OOFd OFSslea{2|d 22(ohs(Ex) 90,015,0009 x 14! = 90,015
O 0IS3I422|2 22(ThH(E=X) 24,819,0009 x 14| = 24,819
ONY OISt 2eltisl(ER) 46,368,0009 x 14| = 46,368
OYH OFSstea{e|d 2eltis(ER) 31,539,0009 x 14| = 31,539
OFA O1S5teA{2|d 22(tidl(ER) 38,468,0009 x 14| = 38,468
OAlIS DIS3I4A2)3 Z2|ti(ER) 151,112,0009 x 14! = 151,112
OAIZ DIS3I4A2|2 22(Til(ER) 179,964,0009 x 14! = 179,964
OTMS 2t2|cHst 90,000,000 x 14! = 90,000
751 Ygre|y| 536,684 424,200 112,484
100 QlzH| 171,444 0 171,444
101 QlI7H| 164,064 0 164,064
01 B 164,064 0 164,064
ozs 125,683
-62(2138) 3,898,6008 x 19 x 128 = 46,784
-78128) 3,534,2009 x 1Y x 12¢¥ = 42,411
-92(2452) 3,040,6008 x 19 x 128 = 36,488
odzed 8,347
-6=2(1792) 1,949,300 x 1% x 23| = 3,899
721442 1,767,100 x 1% x 23| = 3,535
-95(34af) 456,090 x 1% x 23| = 913
OBHEF7H 12,570
68128) 2,339,160% x 1@ x 23| = 4,679
T221%28) 2,120,520 x 19 x 23| = 4,242
-92(2458) 1,824,360 x 1Y x 23| = 3,649
O HE A 10,473,4008 x 86% x 1/30 x 15 = 4,504
OF2eY 7Kg 1,680
-62(1732f 80,000 x 1Y x 12¢ = 960
721492 60,0009 x 1% x 12¢ = 720
OZUZA| 140,0009 x 3 x 12¢ = 5,040
07124 4,080




[
2 (700)AIQEIE  ©(710)

JYHIE  MEh(75n)EkalE]  =:(101)Q1748] ool - He)
n_r-;j@-% odue | §ha | 32
-4t 40,000 x 3% x 128 = 1,440
-SNE 20,0009 x 5% x 12¢ = 1,200
IS (EH) 60,000 x 2@ x 12% = 1,440
O7|188esY 30,0008 x 3%Y x 12¢ = 1,080
O7|188E4Y 7ittg 30,0008 x 3%Y x 12¢ = 1,080
106 2243 A| 7,380 0 7,380
02 ZAZEZH| 5,580 0 5,580
OZlgEZH| 5,580
63 165,0008 x 1Y x 12¢ = 1,980
72 155,000 x 19 x 128 = 1,860
93 145,000 x 1% x 128 = 1,740
03 ESZURMAH| 1,800 0 1,800
otfRigsH| 50,0009 x 3% x 12¢ = 1,800
200 27| 362,000 424,200 162,200
201 YokedH| 37,000 34,200 2,800
01 ArR2eH| 35,100 32,600 2,500
Ot 30,300
U371 skrEAlY 2 AIREE 2 HIE 7Y
1,500,0009 x 14 = 1,500
LS| US| A A Z20 AER L RAlEE
10,000,0009 x 14} = 10,000
A U371 SteTArY BLRAL 10,000,0009 x 14! = 10,000
A HB7|Y olrEAIY ZARA QI 1,000,000 x 14| = 1,000
Otk 2 MRMH(EEZEY, 2/1EA §) 7Y
100,000¢ x 5& = 500
-2 L2YE 01842 20,0008 x 15 = 300
-NHOEEE AL R 5,000,000 x 14 = 5,000
-EAP] Y 1Y 500,000¢ x 2& x 23| = 2,000
oY 4,800
-Of| 2t SErRAAH] ATHY YRIAIH(BTL) SUFE7IRIHE| 3loleE
100,000 x 7% x 43| = 2,800
-7 |58 (SHMERS) HIRIYE dojed
100,000 x 5% x 43| = 2,000
02 3&a2aH| 1,900 1,600 300
Odt==3| S| 1,900,000¢ x 13| = 1,900
207 i 325,000 390,000 65,000
01 S84 325,000 390,000 65,000
S35k H2ohl oL 8 45,000,0009 x 14l = 45,000
O33se 7RIt 89 270,000,000 x 1Al = 270,000
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(700)ARHHIE  8h(710)BYHIE
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Migh(751)dekgls]  =:(207) S| (T - A
TS AEE A | Gha | 34
Ol S3ste{2Ald dUHH 10,000,000 x 14 = 10,000
300 B0l 3,240 0 3,240
316 37|2SE LA U-AIY] 3,240 0 3,240
Ot AtBE 9IEF A 1,5009 x 18071+ x 12& = 3,240 3,240 0 3,240




